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(50 Quasticra )
In questicra e bingually o English and Hresll in cose of
discrepancy. the Engisn wersion wil prevail

A quesiions afe compulsory and cary egual mErks.
Tiwe paper comies Hagalive mamisg 025 marke sl ba
FOr @Rch: whon s

Belore you St ko arswer the guestions you must check u
this Bookiet and ansune that it contains all the pages (1 - 24
and see that no page is missing or repeated. If you find
dofast in iy Boakiot, you muat get it replaced imnediabey.
Wou wil be suppled (e Ansesr-Sheel ssparstey by the
Irwiigdaicr. You musi compiata Anc code the detsbis of Nama,
Rioll Humbsr, Ticket Mumber and Tesi Form Mumber in tha
Answar: Shoet carefully e must also put your signaivre and
Laf-Hand thumb mmpression on the Answer-Sheet al ol
prescribod place before you echualy slart arswering e
quastions. These rstnuctions must be Ly compled with, taling
whith. your Armwer-Shast will rof be svaluaisd.

Answos Ml be shown by compleedy  Bdackaning e
cormaponding orcles on Bidal of ths Answer-Sheal against thadl7
Felrvac susian number by BlackBlue Ball-poinl Pen only
Armwers which ans sol shown by BlackBlie Bal-poind Pan wil
Tt e Aarded any. miark

A machs wil read Fo coded Fdosmalion i the OMR Angwear
Shool. i Gile Fa nfomstoe B Aoompisle o difenent fom e
nformaiion given |n the applcation farm such candicste wil bel
mwiardad 'TERT mark

-

The Anssar-Shast must be harded ot bo e Invigilatne befar
yeni bsdvm e Exominanan Hall

Faiture to comply with any of the above instretions will |
render & eandidibe liable to such sctioriponalty as may be
denmed fit.

Thit mancer im which T e questons @ 13 be anseemd||’"
frs. been saplained 8l the bock of this Bookiet (Page Mo 24)
woch you shoud read cansully bebors ociualy answaring thel|il
fusstions.

Siiiie queslions may be deult and ather e@sy. Do nol spand| |t
oo much lié-an any quastnn
o rough wark i ta be dons on thw AnswerSheet, Blank
Epaces provided at variows places in the question boakiar
may b used for romgh wors,
m—-l
halisr

“Moblle phones and wirefoss
campletaly  banmed i the iraieli

Cancidates are sovised mal i heep mobls phomesdarry odfer
wirefoss communicmion devices with Dhem ovan in

eff irode, in their own ilerest. Falling fo eamply with
provision Wil be considared &8 wadog wafsy means in
weamalnation and dction will be takon agatnsar tham
cancalanan of their canoidatine s fefive deharrmest frsm
appaaring in examinaliods conducted by Commiatan®
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Bart A: General Inteliigence and Reasoning
HET . T Sfiwe o9 ek
1) Which i the comect imags if the piciure is hald in
front of & marrar?
A o o 25 & e T I A SR al

s s Ao

2

ir-d

G

Fut A ey rad Fwanneing ¢ AN W S e
T DCBA:WXYZ .. ML .7

#A] ROPO B} PONM

) OPON D) SROP
B) 9:3::78

A) § B) 3

c) 2 o1

-

Directions. In Guestion nos. / Bdfer - X7 a2 Bio 10 &

ar two slatements is given followad by twe conclusions | and i,
?‘wm—hmmmnhmmn“m
to be af varfance from commanly known facts. You are to docite
which of the given conciusions can deflnitely ba drawn frem ihe
given siatement. Indicate your answey,

ot R e et gt k) o
[T o & Araw e v ) s e e
T AT e & B At pba e aroat ot
wiar ¥ v v aveer f # vt g R Ev g b
= (S e | A Ie w B o

Diractions. In Question nos. / R © 797 H8I7 20 3 &
the given altermative wonds, select the word which can ot be

B) Stalement: Cactus planis are fleshy but need least
waber
Conckegigns: | : Al fleshy plants ane cacius

formed using the letiers of the piven ward: I Cactus piams need least water

[miRTRe et # o o give 3 v v e b T S o R A E AT 1ok e

SET T S T Y e . BT A b

) CHARACTER et | ol e i Sem R B
A} CRATE B} CHARTER I - B oftedt & oy ot S 3y )
C)HEARTY D) TRACER "

3 ADMINIBTRATION A) Bath | and Il follows.  B) Neither | nar 1 foBow.
A) Station Ministar fereamt | T 2t Il #F A w A
C} Ration 0} Mind B i Foroardk afi i)

Dirsctions. in Question nes. / B - o7 &oar 4 aaf| _CF Only |l foliows. D) Only | Tollows.

mmmm;ﬂmmhpm = B | hwﬁﬂ#lﬁﬁm

alternatives. i G i B

Bv v fiweut & 2 gratoere ovex ) st wwwr ot g

4) DHLPTX : BFJMRY : ; COKOBW : 7
A) LIKLMN B) AIOMUG
\’5}- AEIMOU D) UMCEIA

8}  hive: bee . ayrie: 7
T - g o S g
A parot | dram Bl Eagle ez
) sparow /D) pigeon e

61 STAR :RATS ;:WARD: 7
A} DRAW B) SHINE
C) MICE D) FAME

TS T ETTRGER z Fro

[ —



" sumements | AeTER.
(@) Soma schools are Leboratories | % Fed
st B
(B} Al Laboratories are theatras [ F¥T gmaTe
FmgmymET ¥
Conchysions | fresd.
(1) :Some theatres Bre schools | &0 AETITETT
=l
1) Mo Scheol is-a theatre [ F1§ 3 T AETET
7 H
A} Neiiner Conclusion | B)-Conclusion | follows.

e oo ot | et B
T | T AT

oy 8 S
C) Both Conclusion 1 & Il D) Conclusion |l follows.

e Tl 1) Tmaan B
ety | T ) 2T

e #
1] I & mirror is placed on the line MM, men which of
the answer figures is the nght mage of the gven

figguire
ol o e Y N Yo o T S A &y el 3

et # # sber iy Aph v i
wietaT golr 7

d
4
3
3

"

¥
i

3 /}if* '
ANLNIN 1
= e b
BT RN - c) fnl

£,

12} How many faces <an you count in this 3 -
dirmengional model 7

EF 3 JTanT e o e aanpts B
A 18 B) 14
c) 18 D) 12

i

 In Question nes. [ B © we FERy tim e A
B ood mumbscleftersiiumber pair fram the givea

[ Bt A 5 e WEAT | FET ) ST g gieT

13 =
A (5T By (2881 )~
CH14749) By (11,13)
)
&) mimm agy M B) bbby
C) oo gog kik D) koo sse
15
_A} HILL B) CIEM
c) ZOW D) TEAP
16
A) S100 B) 8110
C) 1234 D) 1188
17
A) arigoid | T B) Tup/zafw
€} Roo /e D) | otue twme
18}
B) Brees f dew Bl sipel/ Fam
E) Tinsfem L D) Gromze  wiEw

19) A crcular sheet of paper is folded in parbcular
manriar, purched once and then unfobded, Find oul
the manner in which the paper was folded and
punched from amongst the anawer figures.

T rETeRTT ST O TR e gy e
g oo ary Fisfieey weie e e | | A Aot
& F ST S 6 TeE Ired Avpie & BT
& & Fimer ffem Rem e
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Directions: in Question nos. | B - 79 F&r W0 32 &
select the missing nsmber from the glven responses.

Ry el & & g0 A mF #ifaT|
20)
P W
d
[
20 14
A) 24 A 18
c) 18 o) 12
21} & B v
B 5 6
r S S e
B5 26 38
Aj 10 By T
ca oy @
22)
B 12| i
8[| 7 wim|a 9[7|F
4 |7 | o]
A) T1 B) ™8

c) =2 Vpgaa

23) Change symbol and solve accardingly 1o find
correct answer from the altermatives given below:;

e T aro Rseeat = A TR T e & R
Tt = =i M despare 3 g T |
BxBxT =M 4xTHi=1s  Z2xixg=?

A 12 B) 1

cj 10 o} 18

24) From the given answer fgures. select the one in

which the question figure is hidden/smbedded.
& ot Seaw st & 3 ey T ety ot gy
Tormd o 2l w7

i 2 |
- | |
- ) y‘A e

25) Amange Me following according to dictionary,
ety A iy ootew & waEw Wiaw
1. Fenzstration 2. Feathar 3. Feed head
4 Feature £ Feminine
A} 24351 B} 42315
€) 24153 D) 4235,

Directions: In Question nos. /| Bdw W% FaIT Mo T &
which oo st of inSiars when saguentially placed af the gaps in
the given iemers series shall comphele 17

FET T SR TR e oy e & g et

T E TR

26) LU TUPLLBTU LUBT P_UBTUP
Ay EPUL B} BUPL
C) LBPU 0} PBUL
#7) B_CCABB CABBC AB CCA
A) BCBL H) BaBC
&y BCCa Dy BBCC

28) Wnecn of Ihe following stats the relationship
batween Socilngy, Pryoholedgy nd Humanilies?
et & 8 #8 & 3T m,

AEitE S A & T el

& &

| Directions: In Guestion ncs. / Sy © ¥ EEAT Mo 30 &
Which answer figure will compisle the patiern in the questan
figure 7

et s A e A & i gy Ay

JMIEE T BT Ees
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I mpressnied by only one sef of numbers a5 given in
o ©e atormatives, The sets of numbers gven i

L' can be reprasanted by 56,77, efc, Similadly, you
weity i gal for the word givan in asch quadtion.

A O SO SR G qeiar aa i da
Srwewt o gt vw F Ry o | Rwent & Graw
FE Ry At & ot ganr gl aw § S At 2|
3} From her home facing south Kawita walk .
: 16 ad-iane Mowim g :.‘I';i Vom. Vow lar | T8 STSIET A R - | e iy iy 0 www0 A
:::ﬂfm i . which waas her staring g harahif afe amegr- 1 75 39| gar eyt & v awevy ot
e T T TR SR TE A e e A R R ST IR HT T A R T ST SN A
1580, waar T e seem 1 H9 AEe 126 FEaT ) FEETeTd [RE #0113 JviE gy awlar ar
aﬁa et iy | T P i o e ]
> ' ATt v # B e & v oy wt awa

St gz e
) LANE
A} 12m B 9m  MATRIX - MATRIX - 2
€} 10m D] 15m o[1[2]afa sie7/sla
32) Two horses A and B run at & speed of 3.2 rafio m 0ZMSRC S X KTHES
the first lap; during the second lap tha ratic difers 1/J|LIDIBG |BQAU ¥l P
by 4:7; during the third lap tha ratio differs by 8:8. ]
What is the differenca in ralic of speed allogethes gL B M ?U_\'QWE
petween the two horses. JIRIL NS 8 TIYIAEIU
g A it B T TR A 3z FTE A AR 4B DMRJ 9X0OEVA
St ; S SoE A A woF A 47 B E &) 11873297 B) 11863308
At T A AT e 88 g e b 2 C) 31BE33ET D) 3187 32 67
e a5 v e FRETER g # T i 3 AIRSE
A1 B} 2 __ MATRIX - 1 MATRIX .3
£1:4 o5 3 0/1/2/34 | 587889
33 HKeeping her back towards the rsing sun , Reshrma QAIE MNP 51L-R15T
starts walking, Afler @ few minutes she tums left 1 H|P AEM ERSTIIL
a0 keeps on walking. Then a litle kater she fums
right and then left. In which direction is she going at 2. EIM 0 i TT ! _?L;FH_S
the MomEnt? IP/AEMN BLRSITI
Feh & | T s a oy e g ol B T et A) 24 89, 58,78 B) 00,63 76,88 -
e | e &7 e aw ard g A E i e C) 12 76,95, TH D} 43, 55 B85 85~
e et | g e = e R A s aR e 36) i o represents ¥, b represants +, ¢ rapresents - |
and d represents « then 24a Gd4b 5o B8=7
A) Wesi or Noah / Bl East or South (TS @ gt a+ wrEwban ®, b+ B i E, o - Fraim, g
e ar S e S d 34 i § i o
C) Nonth or South  serr D) Soulh or West | Azq::uunea:? = N WX
=" g o ofias } - ]
o i st cj 20 5 D) & H /{’t.::
JTATZ0NG [ B17656E 3 R e

E—r—h —
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Pt & Gomers' Al Fwa AT rr

missing. Choase the
witernative from the given anes that wil completa the saries,

T R & B gt e g f| Beav,

# & 77 7 we gl g v e
3) 24.36.20, 31, 18, 27, _, _
A) B 25 B) 8.8
B 12,23 D) 530
3a)
- e
& ??,33.95.124-,1%,__
AN |
& 50 2 4
a5 j 15— 15:
A) aj ch e

39) Which ore of the given responses would be a
meaningful ceder of the following?

R Rt & & e S A ST vt
AP W e |

1) Rivulet ¢ afzam 2) Ocean | AT
3) Tributory | FErmew AL 4) Rivar | S8
5) Sea f wEE 6) Rain | ot
Al 561324 B) 653124
D) 641352

/,_B:’EI 13452

“d0) Selact the answer fgure which is the same as
quesban figure.

O T ST O o e ST & e |

]

= |
I ﬁfé
A 8 ) o)

41}Hnwnwh-inrnmamﬂmminﬁmi'mhwing
SOuanET
Tefafm ot & e e

) 11
g
Sonolars andt sruckerny?

w5 res S Gt i oo et
E oo d o

P I =] [==

=1 PY |© \_3%3\

o | s | ""L.

& o D)

43} Which figue best mgreserts fhe relationship

J betwesn Edicr. Mewseaper and Joumalist?

Fed sy s mmmn i e s 4y
FURsRE oA

=

0O KBO| "‘“"l I'Tﬂf
) L o

44) If GOODNESS & coded as HNPCODTE. how
Wmmmmmmm?

L GOODNESS B KNPCODTR 122 By s
tﬁﬂﬁ#mm&s#ﬂﬁmml

A} HOFZSMFRY Bj HOFZUFRTM
C) HOFZUODTR _O} HOFZUMFRT

45) A man chmbing up 0 wall of 24 maters high. He
climibe 16 m on one day but slippad back by 3m £0
£mE in thé evening. How far had the man reached
on 1t day T
24 #res 5 fvne o T men v M TR R A

- 18 AT U | T o w2 A doda o
hw;rnnnﬂznmmlrﬁm&ﬁw

A) 1Zm &0 cms ] 12.6m
C) 19m 40 cms o) 11.4m

I BT.O
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&5 A pece of paper is folded and cut as shown below
in the question figuresFrom the piven answer
Bgures, indicale how it will appaar whan opaned
#1 eR FpTa # BT AT S A e

T A et & e TR Ieet sl S

& =}

a

a

[}

o)

o

B) =]

47) In 3 language FIFTY is writen as CACTY. CAR as
POL. TAR as TOL. how can TARIFF be written in
nat languaga’?

Rt BeTeT 3 FIFTY ®TCACTY, CAR &7 POL, TAR

& TOL FRreT 3 B 2 TARIFF %Y 30 S o 3

§

fom s
A) TOEFDDO B) TOEFEL
C) TOLADD .rl;l-.l TOLACC

48] Some equatons are solved on the basis of carain
system. Find out the comect answer for the
unsolved eguation on thal basis:

P T el e & A o g R e
| 3 MU 9T F A i o e o e

T it |

TrExd=0674, BxSxi=583Bn1ul2=?
A) 727 Bj &2

C) 462 E],.-#HE

49] Choose the similar group of numbers an the basis
of certain common propertias they possess:

el Hoat & o waga S e F
HFART a0 U |
(31,18.41)
_~R) [2847a7) B} (23.33.51)
C) [Z7.2847) Bj (18.27.11)
i

s
Y

50) Two persons A and B gel the same sasry. Ther
Basic pay are diferant The sllowarces s §5%
and B0% of the basic pay respeciively Wesl s the
rado of the basic pay?

SmETANR BN TR AT A E | =
= Tiem i ¥ | 08 7 dow w855, &5
B0% | 3R daw o 3w i

A) 76 Vﬁﬁz:n

& 118 D) 1715
e

.

Fio

T —



§1) Who among the following Mughal rulers banned
mursic and dancing?
iR & 4 B g v« we i
o7yt = e
B} murangzeb | st
D) sehanglr s st
§2) To whom the President has o submit his
rasignation?
IR AT P R A a0 e

B) speaker  waEAT

A} pabar /T
©) Humayun | gL

A vice Presiden | 3T

e e
€} Prime Minister Jmms B Chief Justice | T
AT FETmRr
53} Govemmeni of India has decided 1o

Integrats with recen! launched Pradhan
Mantri Krishi Sinchayes Yojana
S T o W # A i T e F e

Pt & Mjmmwwrﬂl il i o s i

54) Tha squilibrium price of & commodity will definibely
rise if thens is a'an

T T S i A A WA T E g
L6 1]

&) ncrease ndemend  B) increase in both

=" accompanied by & dernand and supply
cecrease in supply. T AT AT I
FAFATAETE o ehE |
FuamATR ARt
|
C) decreasein both D) increase in supply
gamand and supply. combined with a
mﬂm&hnmﬁ decreass in demand.
Y A A ) e e
FT IR # g R
Bl
B5) Whal doeg the word ‘amphibian’ maang?
IV 4 o 3 i

A) gneifeiweatm Bl Thee lives /e e
€} Fowives /o B Twoives/aalm

56) If the Union Parkament ls 1o assume leglsiative

power over and subject included in the State List.
the resolution o the effect hes bo be passed by

whith of e Tallgwing?

T 6 T o e e e o S waE W T gt A e Rt et
A} Haryaii B) Acoslerstd Imgation ity Pt 3 et S B A g T w5
e Banefil Programimi T EETT Wi feRm sy
da A} Raiva Sabha fsy B) Bolh Lok Sabha and
AEH Ay Rajya Sabha
C) Matonal Rural D) Mahatma Gandni ] e w o T
Livalihood Mission National Rural i e
A A R Employment
W abha an
el : legislatures of the
oA s Al concemed States
wiRE IS HHT, T8
E;E_‘, 3T FET Tt
Famerer e
E7) Which of the foflowing = the major copper
producing country¥
FrrATafEE & & e | 3 e A IrEE &
E-:
Al indonesia fesEifrn Bl Se Lanka /s
€} Russia /¥ D) chie | R
T JMJZ016) B Ta5ea ] A ]
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58) An plectron microscope gives higher magnifications

than an optical microscops because:

T e, T e A i st

it ST i

&l Thi wavelenglth of B} The alectrons have
elactrons is smaller more enargy than the
Bs compared to the light particulars
wavatangih of visible
e gl AT 3 T i
s & w # HOw TR A R |
RS T
mrimdnh & mw i
|

C) The elaciron D) The velocity of
MICTOSCOPE LUSES elactrons is smaller
maore powarful lenses than that of light
FelE IR A FEEFI O A9 Uy
Hitw et I AEATAE|
#HT & e
TR

58) The foresis which act as bamers against cyclones
ara:

i A TS & AR S § A S A
A

A) Alpine fonests ¢ B) Mangrowe forests |/ anacted the Constitution ol India were:
T B e B Form AT | gom M & wire W
C) Monsoon forests | D) Ewvergrean forests | FrORTA TR AT, TR Ao e A
He 3 TEE ' i
A) Mominated by the B} Direclly alacted by
80) Total intemal reflection can not take place when Poliical Parties tht Peopio
light goes: from Trareitivn St ZEHT T g
TH WAT T MR S SE e e o E i = e
W — G) Nominated by D) Elected by the
Govermar - Ganaral Legistatve
A) giass to waler B) waler o glass ——a Assermblies of
g A T A i A A e . various Provinces
g AT B _“ il
G} glass to air D) water to air Ve wT 2R
& A g T A o T g Fmifrs
e & ol 64) Chemical name of Gammaxane |s
TS = AT e ey
Al Toluene | ETRES Lk =
hesachlonds | Tty
i
? Chioro benzens | D) aniiing | ohns
Exind =0
T TG B THaEE kR Fio

E1) The markel equilibium for 8 commodily &5
S=t=rminad by
B ae o WA HgeEe T Snffta e s
L2l

A) The market supply of B) The balancing of the
B comamodity. # forces of demand

and supply for the
= TR ST it
Ay i i
AT o it o
Hegee]
C) The market demand D) The Intervsnlion of
of the commndity, ihe Government.
aFg B WrET A T T FEET|

B2) .ﬁ.!u;miﬂlLI‘ﬂ 5all commonly used to stop bleading
ks

T i T i T et o fem

TERATETH IO T R A

B) Aluminiem sulphate /
i TR F

C) Aluminiumnitrated D) Auminmm Chionde (

gt At wegEITeH FEEE

63) The Members of the Constiluent Assambly which

:‘jl Patach alum | SreTer
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B5) Aclone s a group of individuals oblaened through

el () e e e e T b
A} Hybridisation | B} Micropropagation /
T TEAYALT
©) sef polination jzr  ©) Cross polination /
P FET-E
6E) Which of the fallowing is used in the treatment of
eancer?
¥ T A PR ET & e e R
= E e
A} Chematharapy | B) Electrotherapy /
< e sRwE
C) Physiotherapy / D) Psychofherapy /
Tenfawraric T

€T} The largest curent bDecause of e dark waters iz
kndwn ag e ‘black current’ and that |s :

o FiA H wa aE un T S e e
T WA AT M e

sy S ur
C) Kuroshio Current/ D) Antardlic Currant !
1T ey HETHTEE

68) Rﬁ.hlumaduaahmmmryhnmwm
becauss it

FAM 21 it e & ot At & e Py

=

TO) Who wEs Tw governor - genersd duting the Second
Angodbymare WY
o TR 5 A AT - e Al

N Wsentston ! B) oy i shore ra
= iy
©) Lont Commeanis 15 O) Lord Walleslay | 718
TR Er=ar
T1) The Ergess forest which covers 25 parcent of tha
worcl's forwst tand i3
e € 25 i uiE S oo we e e
R EE?
&) Morsoon foras! B} The trogécal Rain
s fares!
Tt ey mffasy
C) Taiga forest of 0} Temperate forasts of
Sibetia Europe
FEE T & e e T F fdnor
wftir T

T2 hamhnm.mmamﬂuhﬂy
opposits of a Key-board 7

Fs BeEs A wi A gy S a4 i
(wEEn EE
Al ewms rms B) Trackball / dxate

€ jopsenimnites O printers Ricx
73)  Immunizsson technsgue was devalaped by

) e At = R e R
A} s very expansive B} Hes less capacity A .
TEEETACTAAE| A A TR Lows Pastewr / g Joseph Lisier | Jm
C) lsprogrammable D) Is volatile L Fasr
g dratE & g TF TREAE g Cl Roten ko fe D) Eoward Jenner;
B H e g S
B8) \fhl'h_l:;among fhe following Sultans fried o prohibil 74) Cripps Windimin__
sab Miszon came
s A
FrTafaE & # e gea o v o e SR
Bt 2 A) 1945 B) 1842
oy : ) 1040 D) 1048
A) Mohammad Bin B) Jalahuddin Khif !
Tughtag | A T AT Tl
TR
E) Firor Tughiaq / s ) Mlaudin Khili /
v I e
- 181 0 FTo




Pt | el Smeeciips wrnal Soewra! Awaraneay /30T 8 NS AT 08 AET SO

75) Mame the acid allack vicim who was honoured
with prestigiows “Intemational Woman of Courage”
award on 4 March 2014 af the State Depariment
Caramony in 'rﬁ'aahlng!nn by Michells Obama. first
lady of the U

mmnmmrwmmmmﬁ
A Higw B FEm g it 3 4 A
2014 T WS o faem oAy & wfafess
SRERI "SI HRHT AT & went
Ep

Al Matini ¢ mfRsht
€} shivani |

B) Nirbhaya / Far
B Laxmi ) mant

76) The founder of the 'Arya Samaj was:
T TS & FEr w4
A) Rag Ram Mohan B} Dayananda
Roy / T17 79 A1 Saraswath | ETHE
i FEa
€} Vivekananda / D) Annie Besant / Tet
ICECIE: 4 kil
77} In a solar or lunar eclipse, the region of aarh’s
shadow i divided inta
T T e o A e o o R e a
Tarwnfae g et 7

A} Two parts/ &
£ Five parts | 9FF ETT

B Thees parts ¢ i S
DY Four parts | T #N

78) Wiich Artcle of the Indian Constitution defines the
duties of the Chiel Minister?

ST AU & e s & gunad E w
& afsmitre fay o &

A) article 163/ smeive B Adticle 166 1 rgeRe

183 168
C) aricle 167/ smeds D) Artice 164 / 3o
167 164

T8) Tulsidas wrole Ramcharitamanas duting the reign
of

T & T A e e e A

Al jehangic /i B) Axbar ) ey
c] Rama Harafmm D} Kizhnadeva Raya.'
TR T

BO) Red rof of sugar cane i3 caused by
= F T T e e g 7

&) Frylophihora B} Alernaria atbernsta
wfesians

Hiee i Weedier
SR SRR
C) Coletatrichum D) Cemospora
falcatum pErsonaElEs

FiacgEa ek FEtET qlEr
81) Mac lver says ‘Kinship crestes socsaty and society
sthengih cromtes” 7
Al W § - TPyt I e e i
FAH FHTS W w0 Eear i

B) City state / 7o T
D} Asecciation | e

A Sete s
C mation

A2} Tha hydeophifc nature of DMA 8 dus to tho
presence of.

DA &1 el FEes fefr stagah & svvmr dhe
t

A) thymine base B} oceoxyribose sugar
A & SirrtiraTE e
C) anumberof D) phosphate group
hydrogen bonds Wik o
o peEE B
E3) Inlerferons ane symhesized in response o
ST e He e A wtee i E Y
A Wirus / fEmmg B) Bacteria | Sffarog
€l Fungi/v= D) Myoaplagma f
FATEETCHTHT

B4) Tha first law of Inermodynamics is simply the case
of?

AT w1 v Py e el e

HEALE T
A} The taw of heat B} Tha law of
dxchangs cansanvation af
o e b formy EROFDY
I3t i WO & B
C) Chana's law D) Mewtan's law of
e Loaling
= & e Fae

IMLIZOTE | &1 78568

] P.T.G
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85) The sansa of balance is achisved by;

Fgere 3 i fre gel B
A) Spinal chord B} Carabrum equilibrium
S FATER Hegen
FEH TRt
C) Thalamus equiibrium D) Cerebellum
mm equilibrum
FemTEaehm dae

86) Nrrogen In water is commenly found in tha form af
I H AT HEH W R s A oA g e

A Niric anide | refew B), Narate 1 e
HFagE

C} htrite / FmerE D} Nitrous ceigs | s

s
BT} Nmﬁ;ﬂuhmmmtummh
wa

B T A WA fae ae) W g & prit
o FETAT
A} Champa s ==
) Kosala ) whers
B6) Which one of the following chapiers in the indian
Constitdion guarantees fundamental rights o the

pecple?
WA BT & iR o & e e

e F IHEVERE Wi e e g

A} pan | am
€} partii ¢ smr il

B} Magadha / #eary
B} avanti / 3wt

Bl par v s
B e 1) mwr

83) Alow Interest policy is alsc known B8 -
HE war A T e i

A} incomegenerating B) Investmant policy
polic

y e e
HIT e A
LY vheap maney polisy D) dear money policy
T A st am AT

80) A reversible and an |maversible engine a%e working
between the same fimits of lempemature The
efficiancy of

T Tl 3 T e A ST
At dfe st ey @ f 2

A) Eachengine iz 100% B) The reversible angine

: is greater than the

WedlE G T :

100% g I S A
WD § o
it wn

C) The imeversible D} The two angines is
mnlr;::gmater squal

than raversinie i
Bt g=wt i e

SR S e g

ERTHT S SR

s gl

81) The mest abundant elerment is
W waT A 3 B e A e g e
A siicon /s B) Niogen A

€ ouygen i dimtmm D) Caloium | S

82) The fieshy thalamus is edibée in

TET T R A ae O iRy

A Mango / 3 BT ppple 3=

€} Orange 1 Fm B} tomat | ZmET
83) Wha constructed Humayun's tomb in Dalhi?

Rt 3 g =1 m e s o

Al Babar/ awET Bl Humayun / gard

) Akbar | 3w D) Hag Begam /et

#TH

JMJEN
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94 Rﬂnlrdlﬂp momy supply situalion in India it can be

said that thi

m#gﬁrmﬁﬂrﬁqﬁtmﬁmm

Cib T A

A) Currency with the B) Cumrency with the
puiaz 1. move than public is less than the
the daposits with the daposits with the
banks. banks.
FAAT & T HT $ S & orw e fwt
T e AFTAAFAL|

C) Currencywiththa D) Cumrency with the
public is almost squal public g incomedtible
to the deposds with only.
L
e b Rt
# T o T |

#5) The totad number of planets revolving eround the

EuUn A

T & Tt A A Ot Y e e R 7

A siioE
€} seven /&

Bl gight! s

D) Five /ate

#6) Economies of a firm ane:
T = F gAm s B
A) Saving in if's B) Areduction infs
producton ga5ing axpnaes

TS AT A Fafr = #

CEn

C} Hsdominance ofthe D) Anincrease inits
market profits

AT & W R R

97) Reservation for the Scheduled castes and
Scheduled tribes in the senvice has been provided
In the Indéan Constitution under -

et Efdte & fee et F seaiEe Wit

T wpfes == et & fi s & o

e 7

A maﬁs.’:ﬂm B Articie 375 1 epeiE
ars

c) Mmai.smm D) Mﬁuasﬁxﬁm

315

Asgranays CRTR G ST W P S SRR

§8) Wes among ihe foliowing 13 named &3 “Haryana
Hurmcane7?

SiTTEe 4 3 i i aEer (T F A
FeEg b

FTEE W

C) sayRatsa/amm D Ajay Jadefs | 39T
b FERT
9) The States reorganizalion in 1956 created 7
1088 F poat w e e S 7
A} 17 States and B B) 14 States and &

Unian Terntaries Unigen Termlones
1T T AT e w g 14 70 HTEFE
gk o T o E

C) 17 Siasesand 6 D) 15 Siates and 8
Union Terntories Urion Territonies.
17 T T 6w 15 ora T 9 AT
bR g o =0 O ot

100} The rescurces which are abtained from bio sphere
and hava life ara:

#E ASE A W AT o wE wte o e e
g b7

A) Potential Resources / B} Ablotic resources /
TEY F e e
] Bictie resntigen / 0} Renewabla
T resources: [
CLiLouic £ G

13 PTO
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Part C: Quantitative Aptitude
HU I, feaweE Fiet

101) The angle between the graph of the Fnear squation
230x-230y+5=0 and the x-axs i

YT AR 230w-230y+8=0 3T x - 300 B arw

e T By st g e
A} 45t B} ape
C) &or o)

102} Incomes of x and y are in the ratio 43 Thair
expenditures are in the ratic 127. Both save 7
3200/~ at the end of the month, then the income of
K157

* STy F TS F AU A Y | ST 12T E
Fegare A | 2t e & e A 7 a200- S awg

=l A xS Bt
A} ¥ 8000/ B} T 2000/-
€} ¥ 8000/ D) T 4000/
103} The mean of x and 1/% s N. Then the mean of <
and 1 ig ?
% ST 1% T AT N | w2 3 1 S aTe TR
|[ A) ane-2 8) w2
i C) N D) 2n:-1q
1 104) The number of paving stones each measuring
|

2.8m x 2m required fo pave a rectangular courtyard
30m long and 17.5m wide, are

“;:.E,;\ 309, o i 17 5% ot sreEE e a oAy
b faroeet & T 2,500, « 23 AT & e ol oeert

e
vy g 7
i

e A) 108 B) 80
X Cj 23 o) 98

9,

o

W
"}g'/
X

“.1.-108) A Trader marks his goods 0% above cost price

i bui aiows his cusiomers 8 discount of 10%, the

o oost price of & blackboard, which is sold for Rs 218,
&

7k

7o P ST e T A A 200 W
e i e T 3 T = 10n, # o
2o i | e o ETE e T A A 2 A

108} A man born in the year 1696 AD. If in the year &
AD his age is w1, the valus of x 187

T A S 180 A | af ah e g A

Tl I e N AR TE T 4,3;‘-
A) 4 B) 42 b7
c) % D) 38 i

e
./R"%
107) If in = triangle ABC, BE and CF are two medians
pempandicular to each other and if AB=18cm and
AC=2lcen then the langth of BC is

T = ABC #. BE 3R GF 0 ot & mem @
Fitmm A § ¥ At AB=10em ST AC=22em

A1 BC & e et 7
A} Hcom B) 13em
C} 205ecm D) 18.5cm

108} Twa circles of radii 10 cm and § om intersact and
the lengsh of the common chard is 12 cm. Than the
digtance batween thelr centres is

10 om 37 8 om Ve ot 2 g5 TienT S we
AR W sun e B 12 em B A

I e & o B i AT e o
A) B B] 133
C) 15 D) 10

109} The Simgiified velue of

(00530 - D002 | x 0.4 +0 56 x0.07 =7

004 025
] AT S T R 7
A} 5398 B) 0.5096
C) =885 D) 5808

110} The hafm, that should be added 1o (dx? + Bx) so that
resulling expression be a perfect square, is
(45 + Bxe) # ity it g Sl s Fr ofora

TEEE o a8 A |
A} 2 B 4
c) 1 D) 2«

111) The average of some neturasl numbers is 15, I 30
adoad 0 fret number and 5 is subtracled from the
laet number the average becomes 17.5 then the
nurnbr of natural number is 7

T FTpT FEATHT o AT 15§ | 97 et sear &

e 30 3y B o 3T S weor & S ser EmT =
A) B 200 B) 7188 ot 3 17,5 T I | e wrat o ww R
"¢ TI08 D) %180 -
A) 15 B) 30
| c) 20 o 10
T JWIIGE TRITEERE 4 = g
|
| S . =
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The ewpenses of 8 country for & particwar year i given in
Chart. Read the Pie Chart and answer tha Questions.

o v o it der o i o =re v v ) e
T NETT AT e T e s i

_.-'F:'Drﬂ'l-'.
\.“*'“
112) if the total BMOURL Spent by the Govarmnment dusng

the year was 71,00,000 crores, then the amount
spent on Health and Education together was

e A EETT o A e ard e O T, 00,000
s o, & wrrew At fin ox e o feae
T E

A) £ 25,000 crore ity B 220,000 crors / W
C) 2 15,000 crore r5® O 2 30,000 crone FE

113) If the total amount spant by the Government during
the year was £3,00,000 crores, the amount spent

o Biate development exceeds that on spors by
T BT T o 3 T o I e T €3,00,000
w4, @ T Fwre o e e o det o
w A T e s g o

A} 745,000 crore /725 B % 25,000 crore ) U
€Y. 3 35,000 crore /715 P ¥ 30,000 crore | T

114) The precent of less money spant on non plan than

118} The parcent of excess money spant on Others than
that on Sports &

T 1 g A A = A A e AR e
afrad Erwg 7

A) 27%
C) 29%

B} 28%
D} =%

116) The percent of the total spending that s spent on
health is

A 0T §d e Wi i e ol 7
A} 20 B} 15%
C) 25% D) 3%

117) 12 monkeys can eat 12 bananas in 12 minutes. In
how many minutes can 4 monkeys eat 4 bananas?

2o 12 12 ime daarn ¥ |4 TeTd dar

e e A ETaE Y
A 4 B) &
o) 12 o) 10

118) The smalest whole number that i o be multiplied
willy 59535 1o make a perfect sguare number is &«
The aum of digis of x is 7

frer s oot W W 59535 B A e OT geT E
FoaTE A A B o it e i Y

A) 8 B} &
) 6 D) 7

118)

10++/25+ 108+ 154+ 228 A
8

P K|
c 1 o)z
2

120) The heigit of a ifanghe is increased by 10%. To
refain the original area of the trangle, is
coresponding basa must be decreased by?

e Py o e 10% i oy e & | Preger o e
BT ST T W (T SO anaenT AT

that on dafence is I T BT
TET i g # drawe o # feae o ww
TfEr e S 9%% 105 D%% E—;&a
A) 5% B) 1%
G} 5% D) 12% A} P B) C} o)
A
» =
17T
L 4 » i, T
T IR 6 TS i5 FTO
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121) Provided. sin {4-B) = snA cos8 - cosd sinB, then
Ein15" will be

ofEr, sin (A-B) = sinA cosB - cosfoanB, oY sin15"
w0 ERT 7

A 3 B) &+
242 2
C) f3-1 D) 4.1
¥ FLF]

132}Hmmm!.rsecmdswil|mt2ﬂmeabm
runming @l Ihe rate of 38 kmihr 12ke 1o GrOss &
Bridge of 380 miatnes in kength?

36 Tl ofader & AT & woe T 120 #e wE
Yo w260 ol wE g O e A Teee
tir o dep o

B} 48 Seci %0

B} 38 sec/ &=

Al 45 3ec/de
€} 40 Sec i He

123) The perimeters of two siméar trangles are 30 om
and 20 om respectively, If one side of the first
{Hangle 5 Sem. Detarming the corresponding Sidé
of tha second triangle.

2w Pt o R e 30 em AT 20om E |
iy T Pt &1 0 g G B A P
s a A A |

A} Bem B) Gom

C) 15em by 125em

124} In a factory, the production of cycles fose 1o 43,400
from 40,000 in 2 years The rate of growih per
annurm is 7

o et A, e = BYATTT 2 3 @ 40,000 F
ST 48,400 7T 7T | W A fre g v
A) 0% B} 9%
C) 10.5% b} 8%

125) 2 km 5 m is equal to 7
7 ki 5 m Tamame TR 7

A} Z.0005 km
C) 2.005km

B} 2.05km
D) 25km

128) if a shop-heeper purchases cashawnut =1 Rs 250
pet Ko and sells it at Re 10 per 50 grams, then he
will hawve

nfe U ZEEEE T 250 Ui Rean & & # W
i & A Hoofy 5o oo H I AT
&1 ¥ ot 39 = g3 gen 7

B) 254 Loss /@i
D) 20% Profit | 5TH

A) 25 Pralt W
C) 20% Loss /5y

127) A trutt seller tuys 240 apples for Rs 600, Same af
shese sppies afe bad and are thrown away. Ha
saly he ramaEining at ®Ra 350 each and
makes a profie of e 198 The % of appies thrown
Fachy EET

s et 600 A 240 B wiwm b | = H
sosaaTeE MR e R A F | ey TasoF
T & 400 B A 2T R T T 190 0 FH F

(e Ed A E T
A) 5% B) B%
c) ™ D) 6%

1z8) F the base of right prism remains same and tha
\sernl edpes are halved, then e volume will be
racfuced by

o o TR o AT, 3o A T8 ST o W
T U & T T Y S a5 A

= ]
A) B8 % B 50 %
o) sadE o} 25 %

129) The rato of the ages of A and B al present is 31,
Four years earfier the ratio was 411, The prasant
agaolAie?

e A ANE S FEE EaTT 1 TSR

T ST 401 o | AT e A R T

A} 33 Years [ 8% B} 35 vears ) =f

C) 48 vears /7% D) 40 Years ok
130) i %+

aEEx « BBEy = 1332

880 + 00Oy = 555

Then the value of ey is 7 ¢ BT xry T 5 F51 FEm
i

A) 555 B @89
S D) 888
131) § @ & an acute angle and 2 sin 0 #15 cos2 @ =7,
then the valse of cot (L is
it o v e w2 sin 0L +15 cos2 0L =T 7

oo L & #Te &T EY

A) 4 B) 3
g 4

C) 4 o s
3 4

Birections - in Guestion nas, | AW : 7 FEAT 13210 128 5
Study the BAR Graph and answer the Questions

77 T T ey #ia At v aeew e

R0 e

16 FTO




P O Cuanitotee Apiikiog / AT £ HESrow ReE

7 Quantity in LakhSugas Bags
Lol el e
Value in Crove Rupees

- W wE v

e
P
F
¥

Yeoars 1896 ﬂ'l:l"l
132) Value per bag was menimum in the year?
ofer &7 #FT WE T SgEae Ay
A} 1989 B) 1998
¢} 2001 D) 1987
133) The difference between the bags expored in 1688
and 2000 was 7
1800 MiT 2000 & T et oo oaid i e

Torme 3T o 7

A) 1 50,000.00
C) 50,000,00

8] 1,00,000,00
D) 2,00.000.00

134) Percentage fall in vale from 2000 ko 2001 is 7
2000 % 2001 & HFT & I WA Waed

frsmr B 7
oo, Bj 50%
C) 25% D) 40%

135) The approximate percentage incresse in guantily
frovm 1987 1o 1998 was?

1967 ¥ 1908 & =T & gfe & sy

e et o
A) 26.5% B) 268%
C) 27-8% D) 27.3%

138) The diagonal of a quadriateral shaped fisld is 24m
and the perpendiculars dropped on it from the
remaining opposite vertices are Bm and 13m, Tha
area of the fisld is?

| Tl HRE i 8 w0 Pt 24m & 3 O EERE

A B Ay Iy R dm T 13m | 8T o eI

137) The shagow of a tower standing on a level plana is
found o be 40m longer when the sun's altitude s

45" than when it is 60° The height of the tower is
FEAE R 9% W ela 7 o g A Fen a0t
o g A A5 Eie T 40m Fe Eiel | 2

i

sk aAET i

A) 30{3+TIm B} 40{3+T)m et

C) 1HaI)m D) 2343 )m ¥
&

138} The permeter of a sheet of papsr in the shape of 2
quadrant of a circle is T5cm, U5 area would be
(=227}

3
o g & O & Wi A S = afE 7S ok

e b
o | T B e gt (=22 7 o0
A) 512.25cm B) 485 cm 1o
C) 893 emi D) 100 em?

-
f

139) A number is increased by x % o get back ta the ':L;

onginal number, it is ta be reduced by?
T AT & % Y T3 AT E ;ST T T W

i T 34 farmren w7 H,--'x.dl'r"
.
A 10k % B 100 %
100+ % 100+ x E
€) x% B _x %
: 100 + %

140) & man boughl a walch at 25 % discount on lhe
original prce. Ha got Rs 40 mare than the crginal
price by sefiing it al 140% of the price at which he
baught. The price of buying the watch was ?

o et & s S WY 25% TE W v wh iy

I 3 P e o it I 1 40% O 39 -
ok oy 5 g B 4 a0 BT O A o
it & FFE w

A) 7800
C} 7700

B} 7000
D} Te00

141} 'O i the ciroumosentre of triangle ABC, if LBAG
=5{F then LOBC is

'O T ABC ST T ¥ | W LBAC =5P A
Loac T e 7

—_ €458
Ty Ay 00 B) 507 J
A) 252 B) 98 o By &5 %
C) 186md 1152 m? [T ¢ .
) m o} m = [y ;;.Kt-
T MWJE0NE | BTTRERG W FrO

: qé/}
v "'hn

2 1047
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YT} 0 550 = (5. then the value of 3V w
-7

T e a7 A Y

20 3l T SR 18 B F = wwS F | o s & #_ B 3

Tt T 778 P, 308 o 5 e T

RS E | A R A gy . G & o) 4_12_?._

A) 13 B) 14 i1

12 D) 15 - 1) Tre o sriece of r ulal

s : 10 P eien o o+ oo i
143) Fram two paintz on the ground and v n a Bt rfi T

}mlnhl line through' the foot of & pin:?-:m Wi il e

anglas of slevation of the 1op of tha pillar & == g B o

complementary o each oftr if the distances of

he two paints from the foot of the pillar ara 12 N o B) 4ot =

matree and 27 metres and the two ponts e on the -

Hn:awadmnpillw.;mnumm rmlmmn:nl < 'E_nm-‘ oy i-.":a_w,: 4

the péar is ¥

FARA G F IS e s e
Frgalt @ widt & vk & s o v gt 4 e
| e et e 3 2 Pt o s 2 oy St 2
AR M i o B g s i

W s (s i) e e
A} 15 B 12
c} 18 D) 18

144) rfx+|1fxl=2.ﬂ‘mﬂaavahmdftt”xl]u
T x+ (1 Ix) =2 far+ (140 B FE R

Al 2T 8)
C) 2 D) z*

145) Two- isoecelas friangles have egual verical angles
| and thiir areas are in the ratio 016 Then the matio
! urmﬁmmmegmm
| & wefang g & ok @t avra & 37 S

ST 9016 ¥ 36 A & A 39 Tl smE

T ST g 7
| A) 34

C) 4:3

B) 845
D) £5:8

146} Acertain amount of monay eams Rs 540 s Simple
Interest in 3 years If it 2atns 2 Compound Intsrest
of Rs 376,20 at the same rate of interest in 2 y@ars,
find the amount{in Rupess),

Tl LreTTRY I eI s A 3w a4

o | ot 2 ok o ool e 2 o p37R 20wy
T wrE e A e i e ey

A) 1800 B} 2100
C) 2000 D} 1600

148 f sinB = 5in’@ =1, then the valle of 84820 + cos's
L ]

{"_, T SN + S =1 3 cos¥ 4 coa®d T A FT
q+

oy
A} O -8} 1
c 2 o -1

150) A tus migweng a1 40 km per hour covers a distance
in G hours 15 mimsss I & tovels the same
destmnce ol 50 km per hoor how long will it take (o
cover the distence 7
AR st AR S s e e ek 15
M##mmhlkusum.nfaﬂ'tﬁ
THAS e A m i T e s
= e aRT A
Al Bhes 182 L‘“F-ﬁ
C) -

i 5 s JEE o O e

E) 2 hrs, /e
D) s feir

18 =N
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Part D: English Comprehension
W s gfe

Directions: in Question Ros. / B - V9% FEAT 15110 155 &
a part of he senience s onderfmed Bolow we
fo the undiriined part which may improve
Chooss the ecorrect slfernative. o case
is requirad, choose o improvement option. Mark
answer in e Answer Shoat,

151) | was angry gf mysedf for making such a big
mistake.

&) with B) no improvarment
C) about D) an
152} She |s very gcceniric woman.
A} LU _B) Ganarcus
C) Impatiant D) Mo improvement
163) The workers should nave been mors meticulous.
A) Mo improvemsant B) Precise
C) Commitied ‘_I:y Punciual

154) Torure and trauma has made hera menial patient
A) Lunatic B) Mad
C) Mania D) Mo improvement
155) The chickens in his farm are {atted up nicaly

A) Noimprovement B) ar=fatensd
C) are fatiening D} ane faltying

Eﬂvmu-mmwﬂnmmfm:mmiummsj
(four words i each question, ow of which oy one word
jcomrectly spell. Find the coreclly spelt word and mavk

180}
A) Cemabary Bj Cematry
C) Cematary Dr Syrretry

-

Directions; in Question mos. / Bfr © 57 &aar 161 fo 165 3

have & passage with 5oquestions. Read the passape
carsfully and choose the besl snswer lo sach question ouf of
the four alternatives and mark i by blackening the apgropriate
cirehe in dhe Arswar Shaal,

Passage

Research % a detailed study of a subject underiake on

systematic basis in order 1o ncrease the stock of
knowledge, including knowledge of man, cutiure and
society. and the usa of this stock of knowledge to devise
new applications,  is used to establish or confirm facts,
reaffirm the results of previcus work, solve new or
|exiztng problems, or develop new theories, To fest the
validity af instremants. procedures, or expenments,
resaarch may replcate shements of prior projects, or the
[roject @5 3 whols, The primary purposas of basic
res@arch &re documentation, discovery, Interpratation, or
the resaanch and devalopment of mathods and systems
for the: advancemant of human knowledge. There are
several forms of research: scientdic, humanities, arfistic,
aconamic, social, business, marketing, atc.

Academic publishing describes a system that is
nacessary in order for academic scholars to review the
work and make it avasable for a wider audisnce, Most
acadamic work is published in book form, There is also a
farge body of research that exists in sither a thesis or
|dissedation furm. Many researchers spent their time
applying for grants for regearch funds. These grants are
|necessary nol only for researchers to carry oul ther
research, but also as & saurce of meril

161} Wha i resaarch?

A) Research ia tha

B) Research (3 the
atempl b limd the:

creation of new forms

in the Answer Sheet. growth of of knowledge.
156) C) Resparchisa D) Resaarch is the
process having no destruction of
A) Encasial B] Ansestral practical usae previous works.
C} Ansastral 0} Ancestral
=" 1B2) Hew many kinds of reseanch ane there?

157) A) Thers is onby one B) Thare are saven
A) Guriosity B) Curiosity kind of research, mtmﬁs of
£} Curknmity D) Curouctty C) Thereare two Dj.-There ars diflerant

158 differant kinds of kinds of research,

] rasearch.
A} Antecedant B) Entecedent

C} Intecadant B) Anbecidant

159)
A) Dwlibarata _B) Aberrance
C) Maditation D) Maseatng
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163) Why is research conducted?

A) Research is B} Resesrch is

=" conducted in ondar i conducted In order &
minimize the resul of verify infarrmalion,
previous works.

C) Researchis D) Research =
conducted in ordar to conducted in onder to
daveing naw desimy facts.
problems,

164) Select the answer which best reflecis the view
¥ expressed in the pessagn
A) Researchersnever B) Documentation is
impertant =

apply for granta
resaanch.
C) Resaarch canthrive D) Grants ane not based
arants. an mait
165) Choose the mos! appropriaie answer from this
PAsSage.
A), Academic pubiishing  B) Academic
" 1 maand only for s maant o banedl
experts. the generad public.
€} Academic publishing D) Academic publishing
I& rmeant cnly for = maant only for
professionals, academicians.

Directiams. n Question nos. / Bdfar - T FEar 166 1o 170 #F
& parts of f seRfences have ermors and Some &re comect

Find out which part of 2 sonfence haes an errar and blacken

circie comesponding fo the appropriste carrect optiam F

semance /s froe from arror, Iscken the circle comaspantiing
"Wo Erroe® eption in the Answer siest.

168) The team was now in the feld and aboul to take
their place

A} aboul to take e
pencn
r;.]v The team was

B) now in tha fisld and
D) Mo error

167) Our beloved Prime Miniger &= known fo the

1TH) Hesrng P srangs noses abowe, the thought at
once soourmed & M that thieves had enlered the

T

A) TE Smewes b B} Mo emor
iered Te Nousa

C) feheoeonce D) Haarng these
Semeed B sirange noises above

sin Cumstien nee (| Exfw - T HEAT (M1 175

B kmproprate CFCH i the Answer Shewt,
171) Showeg = disike of anything improper
A e B) Stict
€} Crode D} Prim
172) Waiking i sleep.
A} Somnoience B} Somnambulism

€] Sespynean

ﬂhﬁwmmhummmwﬂwbgo
&g lve 0 another.

O] lnsomnia

&) Immigrard B) Expairiate
€} Refuges Dy Ermigrant
174} Aristic, musical, or dramste berprelation.
A] Regaration B) Report
C) Imitation 0) Rendibian

175} That which cannol be avosied

A} Indiffierent B} Inestmable
C) Infaliie D) Inavitabie

choose the word apposte in meaning fo t given word

Directions: in Guestion aos. / SN - FFr T3IT 17610 180 &
Lnnnmm

prominant figures all over the waorld. 176) C
the prominent figures B s knowsn to
= all over the "ﬂ ; A) domineering B) careful
C) DHFMDMPHI‘M B} Mo emor C) dlever D) opague
Minister
17T} Enlarge
168) The lions kil the animals and aat his maat A) - amgiit 8
A} and eat his maat B Mo erar C) augment O condense
) Thae lons D) kil the animals
1= 178} Vaciliate
188] Everyone wera ooy to hear aboul his success A) : B)
A) 1o hear B} aboul his success C) repel D) injure
C) E wele ha Mo
S i g 179) Unscrupulous
A) Dedicated B) singbe-mincied
C) suparfiugus D} Conscantious
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=00 Tranquil
A) Temporal B) Desturbad
G} UnruMed D) Perpetual

190) She was 20 that she was

A) prowd respacted
’C_-j.m.w

by &

B} shupid, admined
D} excellent, wamed

£ I Question nos. / S : ST WEET 107 to 185 &
of e four sdematives. choose the one which best
the meaning of the given word and mank i in the

* i Question nos. | BYSr © 9T ®ERT 191 1o 108 &,
four affemsbives are gpiven for the Idlam/Phrase underiined
e sentence. Choose e slfernative which best expresses
musning of ifom/Phrase and mark it in the Answer Sheet

Sheet.

181) Conjeciuney

A} bias B) truth

C) Enowledge D) guess
182) Annihilate

A) Deduce B} Destroy

C) Sohve D) Indliate
183} Interference

A} Tearful B) hencur

C) oostruction D) deference
184) Verzimilituide

A) fantastic B) authenticity

C) grotesque D) festive
185) Quarry

A} denounce B) wictim

Ch crmki D) guest

Directions: in Question nos. / B - oo BRI 106 io 190 X
senfences given with the blanks fo be Mlled in with an

aporopriate word{s). Four alfematives are suggested for each
question. Choase fhe correct affemative ouf of the four and

—

iit by bigckening circie i the Answar Shesl.
1B8) Tha litthe: Boy ran fasl that he was far
breath
<Ay 50, inhafing B} =0, gasping
C) 1o, fightng B} wery, struggling

187) There were so many paints in his speech
that the sudiencs I gt the: message,

A) supedicad, listened  B) imedevant, faled
C) imareating, ned D) relavant, hastanad

191) The officer was in the Soup when hers was a mid
in his offica
A) drnking soup
€} to b in trouble

B) preparing soup
D) istributing soup
192} To win lsurels
A} Toeam greal B) To be Sisappoinied
prastige ;
C} Tobevicdoriouzina D) To memorise
gamea o
183) We must digw the line somewhers.

A} tum the tabées B) fixalimt —
€} pulihe scraw on D) aim at the sky
194) To cut the Gordian knot
A) odoajob B} o perform a difficult

perfiu i task

C) locutapiece of cloth D) o perform an easy
task

185) The shopping mall is a bee hive of activity.

B) abusy place
D) & costly place

A} asacune place
C) & sweelplame

Directions. in Question nas, / By : 9§87 19610 200 &
in the following pessage some of the words frave bean left out

|Rend (he passsge carsfully and choose the cormect answer o
aach question ouf of the four adernatives and fill in the blamks.

Passage
A team of Indian engineers _ (1] shown that digital
iphotographs of the hand may __{|l)_ cholestercl levels in
{the body and serve as an early warning signal _ {1}
rlipid neaitn without a standard blood test,

F?R.I;Bﬂl'ﬂhﬂl'ﬁ balieva the programme may ba _{IV] _in

e future and _ ) _ into mohile phones to enabile @ o

nalysa digital images of the hand captured in the

bile phone.
188) Hao was so at his job that he was asked o e de s g
give a 10 the wisitors.
A) scourate, dispiay  B) able, disclosurs L
C}-adept, demonstration D) agile, demoliion A) ()= Has B) {1} = Has besn
= C) (l=Are D) {l}=Have ..~
188) The of the 'Chief’ was upon him
A} title, impozed B} appointment, thrown "
C} name, dismissad Pj fithe, bestowed Jﬂ {l} = Reveal B) (I} = Conduct
G] (1} = Conjecture D) () = Conceal
JWTEG | 6178588 Fil PT.O
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198}
&) (Il = Bators By (=0
C) (it =By o) (i) = At
S
188)
A) (V) = Refined B} (V)= Racorded —
C} (V)= Rasolved B) (V)= Retractsd
200)
A} (V)= Fiad B} (V)= Loaded

C} (V) = Formulated D) (V)= Featured

o

IMIZG15 / B17E568 72 R



	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_001.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_002.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_003.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_004.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_005.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_006.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_007.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_008.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_009.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_010.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_011.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_012.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_013.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_014.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_015.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_016.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_017.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_018.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_019.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_020.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_021.pdf
	Download-SSC-DP-CAPFs-CISF-SI-Exam-Paper-21-06-2015-Morning-Shift_www.sscportal.in__0_022.pdf

